
Facsimile Expansion kit

MX-FX15

File No. PLE20000600



© 2020 Toshiba Tec Corporation All rights reserved
Under the copyright laws, this manual cannot be reproduced in any form without prior 
written permission of Toshiba Tec Corporation. No patent liability is assumed, however, 
with respect to the use of the information contained herein.



CONTENTS
Fax box unit...................................................................................................................1





1

MX-FX15 MARCH 2020Fax box unit

A

A
B

B

17
17

17

17

16

15

14
13

13

12

12

12

12

12

12

12

12

12

11

10

09

08

07

0605

04

033

002

01



MX-FX15 Fax box unit Mar 2020

PART No. PART NAME
Q'TY

/
PAGE

Q'TY
/

PACK
1 6LS07002000 2nd FAX cover
2 6LS07003000 FAX PWB
3 6LS07004000 FAX Interface cable
4 6LS07005000 2nd FAX PWB fixing plate
5 6LS07006000 2nd FAX in sheet
6 6LS07007000 Earth spring
7 6LS07008000 2nd FAX base plate
8 6LS07009000 Fixing plate spring
9 6LS07010000 Speaker unit

10 6LS07011000 Link fixing screw
11 6LA58793400 Screw M3X12
12 6LA58794400 Screw M3X6
13 6LA58792900 Screw M3X10
14 6LS07012000 Gasket
15 6LS07013000 2nd FAX cabinet
16 6LA58794800 Screw M4X8
17 6LS07014000 Screw M3X6

1 TOSHIBA

ITEM
No.

REMARKS





1-11-1, OSAKI, SHINAGAWA-KU, TOKYO, 141-8562, JAPAN


	CONTENTS
	Fax box unit

